':\ﬁ/': g®= g G5 phép cong cac phan sb (ciing mau sb)
Tén: Ngay thang: Piém:
4 1 7 6
-+ = -+ - =
77 8 8

1 2 5 1

— 4+ = -
3 3 77

4 4 1 1

9 9 6 6

3 3 5 7
Z41t = Syl =
4 4 4 4

4 7 7 3

9 9 9 9

7 1 7 5
Z4]- = L4l
3 3 2 2

I 2 6 6

-+ == 42 =

3 3 8 8

5 4 3 3
T4+ - = 4+ =
6 6 6 6
77 3 2

— 4+ - = 4+ =
5 5 6 6
Lo P
9 9 3 3
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phép cong cac phan so (cung mau s0)

7 6
— 4 — =
8 8
5 1 6
— 4 — = —
77
I 1 1
— 4 — = —
6 6 3
5,7,
4 4
7 3
— 4 — =
9 9
7 5
— 4 — =
2 2 0
6 6 3
— 4 — = —
8 8 2
_§+§:1
6 6
3 2 5
— 4 — = —
6 6 6
S0
3 3
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